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(21 AH-6331
A A a B B ?

@) vawre

(@) i

(@) e

(@) Avsei®

Who discovered neutron ?

(a) Rutherford
(b) Chadwick
_ A& Thomson

(d) Mendeleef

I} FaicH W [=3 A m P AR A B

[3] AH-6331
If quantum number /=3, then total value of m is :
(a) 3
®) 7
(¢ 2
@ 4
3] e B R § 2 Hawor & aF owd
& DIV FT AT BN -

@) 90°
@ 180°
(@) 1200 -
@ 109°8'

When hybridisation of central atom of a compound
is sp” then bond angle would be :

(@ 90°

(b) 180°

() 120°

(d) 109°8'
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[4] AH-8331

4. NaCl fhed Se=T 2 ¢
(3 Fcc

@ BcC

(| scc
@) EcCC
NaCl crystal is an example of :
(a) FCC
(b) BCC
(c) SCC

@) ECC

5. NH; 39 & B9 WA N G G 8 :

[5] AH-6331
Hybridisation'of N in :NH is :

(a) sp

(b) sp?

© sp?

d) sp’d

DI-91 3] ¥y & ?
(3) Bacl,

(@ NH,

® H,0

& cH,

Which is a linear molecule ?

(a) BaCl,
(b) NH;
() H,0

(d CHy

P.T.O.
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